STUDY PLANET -9693466662

SAMUDRA COMPLEX-58, LALPUR RANCHI-01

SENTENCE IMPROVEMENT

(10B, 15 - 06 — 2008)
1. The US economy is present in the face off a serious recession.

(1) having to face of at present (2) presently facing up to (3) presented on the face of
(4) presently facing (5) No correction required
2. Economists have predicted that the country's economic growth falls low to eight percent this year.
(1) falling as low as (2) fell to as low as (3) will fall to as low:as
(4) fallen lower than (5) No correction required
3. In all likeness the company will fail to achieve its production targets this year.
(1) With every liveliness (2) In all likelihood (3) At is likely for
(4) In every likeness (5) No correction required
4. We have failed assessment of the advantages of outsourcing our IT operations.
(1) in assessment (2) in not assessing up (3) to assess
(4) the assessment of (5) No correction required
5. One of the key competencies for managers are ethics and the ability to motivate others.
(1) Among the key competencies (2) Beside the key competency (3) Including the key
competencies
(4) Within the key competence (5) No correction required

(Bank of Baroda, Agriculture Officer, 14-12-2008)

6. He was a brilliant student started work on this idea while still in college.

(1) started working (2) at the start worked (3) who started work
(4) who worked staring (5) No correction required

7. A successful manager is one who can adapt to different situations.
(1) he can adapt (2) anyone who adapt (3) one whose adapted
(4) who can adapt (5) No correction required

8. Starting a company in India has difficulty because©f the high level of competition.
(1) has the difficulty (2) has been of difficulty (3) is been difficult
(4) is difficult (5) No correction required

9. Pressure from the shareholders has forced the Board to reverse its previous made decision.
(1) they previously decided (2) its earlier decision (3) its decision previously
(4) their earlier declslon taken (5) No correction required

10. It is necessarily to invest in stocks which will provide good income during retirement.
(1) necessarily investing (2) necessary to invest (3) necessity to invest
(4) necessary for investment (5) No correction required

(PNB, Management Trainee, 11-01-2009)

11. He didn't want risking to let wet as he had only one suit.

(1) risking for getting wet (2) risking at getting wet (3) to risk getting wet
(4) to get.wet at the risk of (5) No correction required

12. He postponed making a decision until he been given complete information.
(1).tilhe had been given (2) until he will get (3) till he would be giving
(4) till he could be giving (5) No correction required

13. They came in quiet'so as not to wake the others in the dormitory.
(1) asiquiet as not (2) so quiet as not (3) so quiet that not
(4) quietly so as not (5) No correction required

14. 1f you were rule-bound as you claim to be, you should stop at the signal.
(1) should stop before (2) would have stopped at (3) should be stopped at
(4) would have been stopped (5) No correction required

15. He refused to sign till he would read the text of the agreement.
(1) had read (2) will read (3) would have read
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(4) should be reading (5) No correction required
KIdnappers had tefephoned the victim's father from a public booth to conceal | gdentity.
(1) for concealing his (2) because of concealing their (3) to conceal their
(4) by concealing his (5) No correction required
He usually-wears a coat but he is not wearing it today as it is not cold.
(1) has not wearing (2) has not been worn (3) doesn't wear
(4) didn’t wore (5) No correction required
The metal roof was dismantled to be broken up and sell as scrap.
(1) for selling with scrap (2) for sell as scrap (3) and to sell as scrap
(4) and sold as scrap (5) No correction required
It is noteworthy to note that India had pioneered the use of non-cash-based payment systems.
(1) In noteworthy that (2) is notably that (3) is worth to note
(4) is noted about (5) No correction required
Some social service organisations are done yeoman service in empowering the downtrodden women.
(1) will be provided yeoman service (2) have been doing yeoman service (3) are doing service of yeoman

(4) have been doing services of yeoman (5) No correction required
(OBC, CLERK, MORNING, 18-01-2009)

The new airport is under construction and likely to operational in two years.

(1) likely will (2) will be likely (3) likely to be
(4) in all likelihood being (5) No correction required
If you want to complete this important assignment on time you must carefully planned.
(1) careful to plan (2) plan carefully (3) carefully planning
(4) planned carefully (5) No correction required
The company's; first priority is to ensure that these policies are enforced in order to.prevent frauds.
(1) ensured (2) that ensuring (3) of ensuring to
(4) by ensuring (5) No correctionrequired
During her studies finance, she returned to India to manage her. family business.
(1) She studied in (2) During studying (3) While she studies
(4) After studying (5) No correction required
We are still submitted our proposal to the committee next week.and will await their decision.
(1) are going to submit (2) will submit still (3) have submitted
(4) will be still submitted (5) No correction required

(OBC, CLERK, EVENING; 18-01-2009)
In these circumstances, they will not be able to meet the assign target to them.

(1) targeted assignment (2)/assigned target (3) assigning of target
(4) target assigned (5) No correction required
Banks must be ensured that 18 percent of their loans is given to the agricultural sector.
(1) are ensured (2) have to ensure (3) being ensured
(4) should be ensured (5) No correction requlred
The government has announced several initiatives benefiting to factory workers.
(1) beneficial (2) for benefiting to (3) which will benefit
(4) benefited.to (5) No correction required
A date for the.committee meeting to discuss the details of the proposal has yet to be decided.
(1) will'be'yet decided (2) is been decided yet (3) have not been still decided
(4). is'not yet been decided (5) No correction required
With the raining heavily the multi-storey office building was badly damaged and collapsed.
(1) Owing to the heavy rains (2) Because of raining heavily (3) Since heavily it rained
(4) In.raining heavily (5) No correction required

(INDIAN OVERSEAS BANK, 01.02.2009)

The majority of our clients prefer our new office timings, which are convenience for them.

(1) is convenient to (2) are convenience to (3) are convenient for
(4) convenience (5) No correction required

The parent of greater than half these students have borrowed money to pay for their children's education.
(1) above half off (2) higher than half (3) at least halve
(4) more than half of (5) No correction required

When you returned to the branch office, you must enter all the relevant details in the ledger stored in this cupboard.
(1) Returning (2) On returning (3) Your return
(4) While returning (5) No correction required

Once you get your postgraduate degree in management get a job will be much easier.



STUDY PLANET RANCHI

(1) getting a job will (2) to get a job (3) you will get a job
(4) should get a job (5) No correction required
35. He listened to my objections patiently' and then explained why he had taken such a decision in my absence.
(1) that he had been (2) how he has (3) why he was
(4) when having (5) No correction required

(OBC, P.O. 21-12-2008)

. What impressed me most about him was that his commitment to his work as well as his family.
(1) he was committed (2) that he is committed (3) he has committed for
(4) his commitment to (5) No correction required
. Itis the crippling losses suffered by US banks have led to the. current economic slump.
(1) which have lead to (2) that have led (3) leading into
(4) have led to (5) No correction required
. Public health facilities are more scarce since patients have to wait for hours to see a doctor.
() too scarce (2) very scarce because (3) so scarce that
(4) quite scarce that (5) No correction required
. If he is fortunately to be successful, you should give something back to society.
(1) Unless you are fortunate (2) If you are fortunate (3) By being fortunate
(4) If you were fortunately (5) No correction required
. Last week the committee summarily rejected their proposal for acquisition of the investment bank.
(1) have rejected in summary (2) summarily reject (3).is rejected summarily
(4) were summarily rejected (5) No correction required

(CANARA BANK P.O. 15-03-2009)

. Radha's three children, Shantana, Manu and Meera are talented. but the latter excels the:other two.
(1) the last excels (2) latter excel (3) the latter excelling
(4) the last excelling (5) No correction required
. Being a successful businessman demands hard work, honesty, persuasive skills and sound market knowledge.
(1) To be a successful business who demands (2)'Being a successfully demanding businessman
(3) To be a successful businessman demanding (4) For being a:successful demanding businessman
(5) No correction required
. The officer appreciated his subordinate's many attempt ta.bravely confront the miscreants.
(1) many attempting brave confronts (2) many brave attempts to confront
(3) repeated attempts to brave confront (4) many attempts of brave confront
(5) No correction required
. Was it they who were accused of stealing.the neighbour's car ?
(1) Were it they who were (2) Was'it they who had (3) Were they who
(4) Were it they who
(5) No correction required
. We must treat any statement as'a rumour until they are confirmed with proof.
(1) till they are confirmed (2) until they are confirming (3) until it is confirmed
(4) until it is confirming (5) No correction required
. He is the only of the members who have paid all the
(1) member who has paid (2) members who have been paying (3) member who has been paid
(4) members who, has paid (5) No correction required
. The doctor has advised him to lay in bed at least for two weeks.
(1) that he'lay in bed (2) that he lays in bed (3) to lie in bed
(4) to.be laid inibed (5) No correction required
48. Neither-any ofithe.members of the society nor the chairman were present for the annual meeting.
(1) were present at (2) was present for (3) have been present
(4) has been present for (5) No correction required
49. We,admire him attempting to climb the summit in such a bad weather.
(2)-his attempting to climb (2) his attempt of climb (3) him for attempt of climb
(4) his for attempt to climbing (5) No correction required
50. Students are not abandoning helmets, but some avoiding use of helmets while riding motorbikes.
(1) some avoid the used (2) some avoid of the use (3) some are avoiding of use
(4) some are avoiding use (5) No correction required

(INDIAN OVERSEAS BANK P.O. 05-04-2009)

51. We have hired an advertising agency to prepare a campaign to encourage people votes.
(1) people from voting (2) voting for people (3) people to vote
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(4) votes by people (5) No correction required

52. During the training programme the new recruits will be briefed about how their role in the new organisation,
(1) what their roles (2) about their role (3) for its roles
(4) which are their role (5) No correction required

53. The equipment is in such poor condition that we have no alternative to buy new ones.
(1) many alternative like (2) any alternative except (3) no other alternative
(4) no alternative but (5) No correction required

54. Since the deadline has been changed from next week to this Thursday you should give this work priority.
(1) be given this work priority, (2) not give priority this work (3) prioritised this work
(4) priority this work (5) No correction required

55. After the success of our project we have been receiving more requests than we do not have the resources to handle them.
(1) many requests but (2) most of the requests (3) more requests that
(4) too many requests (5) No correction required

(UNITED BANK OF INDIA P.O. 21-06-2009)

. Alcohol in moderate quantity boosts concentration of good cholesterol and inhibiting blood clots,
(1) inhibits blood clots (2) inhibit blood clots (3) inhibited blood clots
(4) inhabiting blood clots (5) No correction required
. One of the main function of the State is maintenance of law and order.
(1) main function for (2) main functions of (3) maingfunctions for
(4) main functions (5) No correction required
. We must realize that learning from mistakes is an Important part of life.
(1) mistakes are an (2) mistakes are a (3) mistake are an
(4) mistakes has an (5) No correction required
. The sword of Tipu Sultan was recently brought at an auction by an Indian for Rs..2 crores.
(1) brought In a (2) brought in an (3) bought In an
(4) bought at a (5) No correction required
. Setbacks and failures has always been an integral part of science.
(1) has always being (2) were always been (3) has been always
(4) have always been (5) No correction required

Corporation Bank«(P.O.) Exam., 22-11-2009

. The corruption charges were a huge blow to his reputation.and his business suffered to a great extent.
(2) his business suffers to (2). his business suffered on (3) his business suffering to
(4) his business suffers on (5) No correction required
. Airline companies pay nearly 25 billion.dollars for their right or fly over than their parent country.
(1) their right to fly (2) their right in flying (3) their right to flying
(4) their right of flight (5)'No correction required
. When he fell down the ditch, he shouted with all his might so that to catch someone's attention.
(1) such that to catch (2) so as to catch (3) so that to catching
(4) so then to catch (5) No correction required
. The disparity between.the earnings of the'poor and the rich has widen in the last few decades.
(1) have widen in (2) has widened on (3) have widened in
(4) has widened.in (5) No correction required
. Instead of teaching abstracted concepts, the new and improved textbooks tell stories of real people so that the children can
identify with the characters.
(1)dnspite of teaching abstracted (2) Instead of taught abstract (3) Instead of teach Ins abstract
(4).Inspite of taught abstract (5) No correction required

INDIAN BANK (P.O.) EXAM,, 17-01-2010

. We have accepted over two billion dollars from them yet it is been used to build hospital in the area.

(1) that is yet to use (2) although it has been used (3) not yet being used
(4) which will be used (5) No correction required

67. People have respond in favour the government's efforts to resolve the budget crisis.
(1) favourably responded (2) response in favour of (3) responded favourably to
(4) been responding favourably (5) No correction required

68. Striking this deal will enable the company to expand its operations in Europe.
(2) strike this deal that (2) to strike off this deal (3) by striking this deal to
(4) this deal was struck which (5) No correction required

69. We admire they are taking this step despite the numerous risk involved.
() them to take (2) them for taking (3) that they have taken over
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(4) how their taking of (5) No correction required

70.The management has been left with no option else to change the branch timing to avoid losing business.
(1) but to change (2) except the change of (3) unless it changes with
(4) other than the changing (5) No correction required

BARODA RAJASTHAN GRAMIN BANK P.O., EXAM 21-02-2010

71. In an attempt to grow economically, India plans to march towards an open economy by opened its doors to global markets.
(1) Open doors towards its (2) Opening its doors to (3) Open its doors in
(4) Opening their doors for (5)No correction required
72. Though poverty is still rampant in India, economic growth and commercial development has served to reduce them
substantially over the years.
(1) Has served to reduce it (2) is serving to reduce it (3) Had servedo reduce them
(4) Have served to reduce it (5) No correction required
73. All witnesses of yesterday's accident has been questioned by the police but none could identify the culprits.
(1) Every witness of yesterday's (2) All witnesses for yesterday's (3) Most.witnesses of yesterday
(4) Many witnesses of yesterday (5) No correction required
74. In spite of the rapid development of medical science, production of artificial blood has remained a distant dream for many
scientists.
(1) Despite of the rapid (2) As aresult of the rapid (3) In spite:of some rapidly
(4) Because of the rapid (5) No correction required
75. India has millions of job opportunities but there is a serious shortage of educated professionals wham are actually employable.
(1) Those are actually employed (2) That is actually employed (3) Who are actually employable
(4) Which is actually employed (5) No correction required

ALLAHABAD BANK (P.0.) EXAM., 21-02-2010

76. Many senior citizens are finding this difficult to affordable essential commodities today.
(1) It-afford (2) Much-afforded (3) Still-be affording
(4) Their-afford (5) No correction required
77. He has raised some pertinent issues they require a serious discussion.
(1) Pertinence-requiring (2) Pertinent-which require (3) Pertaining-that requires
(4) Pertinently-will requires (5) No.correction required
78. In order to be compete today a com pall) should innovative:
(1) Competing-must (2) Competent-is (3) Competed-should have
(4) Competitive-should be (5) No correction required
79. While the company make great strides on the environmental front it has updated its HR practices.
(1) Make-will update (2). Making-updating (3) Had made-yet update
(4) Made-did not update (5) No correction required
80. Corruption acted as a disincentive for investment.and harm economic growth.
(1) Actions-harmful (2) Actively-harm (3) Acts-harms
(4) Will act-harming (5) No correction required

VIJAYA BANK CLERK EXAM., 07-02-2010

81.Ensure we have the necessary clearance is the responsibility of the legal department.
(1) Ensuring we have (2) To ensure having (3) We have been ensured
(4) Ensuring us having (5) No correction required

82. They have decided to go ahead and implement which was discussed at last month's conference in Chennai,
(1)awhat we had discussed (2) whatever discussion (3) that being discussed
(4)which has been discussed (5) No correction required

83.Toreduce costs, we should replace our current system by much efficient one.
(2).through more efficient (2) efficienlty by (3) with a more efficient
(4) forbetter efficiency (5) No correction required .

84. Staffiin the district offices can easily monitor whether the payments are being made in time.
(1) easily be monitored (2) monitor easier whether (3) easy to monitor that
(4) monitor easily (5) No correction required

85. Most of the managers whom involved in the deal had previously worked for multinational banks.
(1) whose involved (2) involvement with (3) involving whom
(4) involved in (5) No correction required

PUNJAB AND SINDH BANK CLERK EXAM., 23-05-2010

86. | looked everywhere as my keys, but | couldn't figure out where I had put them.

(1) For my key (2) As mine keys (3) For my keys

(4) Finding my key (5) No correction required
87. The new restaurant is doing good business because it serves foof of good quality at lower rates than other restaurants in the area
5




(1) of serving food in (2) It serves food for (3) They serve food of

(4) 1t serves food in (5) No correction required
88. The president, was extremely popular on the world stage but is dislike in his own country.
(1) But was disliked (2) Rather is disliked (3) Because of dislike
(4) Butis liked (5) No correction required
89. In an attempt to chante its old fashioned image, the newspaper must created a section aimed at younger leaders.
(1) Will create few (2) is creating few (3) Should creates a
(4) Has created a (5) No correction required
90. As her neighbour have loud parties every night, she does not complain. She prefers to put up with it.
(1) Because her neighbour (2) Even though her neighbours (3) Despite of neighbours .
(4) Instead of her neighbour (5) No correction required

CORPORATION BANK (P.0.) EXAM., 09-05-2010

91. Bank charge differently rate of interest depending on the size of the loan.

(1) Difference in rate of interests. (2) Differently what rate of interest (3) Different rates of interest
(4) The different rate of interest (5) No correction required

92. It is necessary that we take any steps to reduce pollution soon.
(1) We should take every (2) We have taken no (3):Us to take any
(4) We take some (5) No correction required

93.1t is too early to say how the Impact the news tax will have on investors.
(1) What impact (2) That the impact (3) How much impacts
(4) What are the impacts of (5) No correction required

94. Kindly ask his advice regarding the various health insurance policies presently available.
(1) Him to advise that (2) Regarding his advise (3) That he should advice
(4) About his advice (5) No correction required

95. Unfortunately many of our towns and cities do have more good transportation Systems.
(1) Have a good (2) Not have good (3) Not have much good
(4) Not having better (5) No correction required

SYNDICATE BANK PROBATIONARY CLERK EXAM., 27062010

96.As Anuj was familiar with the road to Neeraj's house, he lead the way.

(I) Led the way (2) Led away (3) Leading ways
(4) Lead ways (5) Nacarrection required

97. Although he was new to the field of painting, Sharad give it a go.
(1) gave goes (2).gives his go (3) gaveitago
(4) giving it goes (5) No correction required

98. The performance of the band on New Year's Eve was out of worlds.
(1) out of the worldly, (2) outing of worlds (3) out from the world
(4) out of the world (5) No correction required

99.Parents are changing with the times and are friendlier and more open to their children's views.
(1) changed timings (2) changed to the time (3) changing times
(4) change with time (5) No correction required

100. Many people do not lie taxswitch at one brand to another.
(1) switched.in (2) switches at (3) switch from

(4). switching on (5) No correction required






